CALCULAY SIMPLIFICA:
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VB+V18—V98=v2-22+V2-32 —V2- 72 =V2 V22 + V2 V32 -2 - V72 =22+ V23 -
V2:7=2-V2+3-V2-7-V2=-2V2

V9 + V8 — V27 +V75 —V2 =32+ V23 — V33 + V3 .52 -2 =32+ V222 -3 .32 +
V3:52—V2=3+2-V2-3-V345-V3-V2=3+V2+2V3

3V2+4V8 — V32 + V50 =3VZ +4v2- 22 — V25 + V252 =3V2 + 4V2 - 22 —22 .22 2 +
V2-52=3V2+4-2V2-2-2V2+5V2 =122

V8- V3+V18+VI2+ V27 =V2-22—V3++V2-324++3-22++3-32=2V2-/3+3V2 +
2V3+3V3=5V2+4V3

227 = 2V12 +9V75=2v3-32—2vV3 224 9/3-52=2-3-4/3-2-2-V3+9-5-V3 =6V3 —
43 + 45V3 = 473

3V8+4V50—6V18 =3V2 - 22+ 4252 —-6v2-32=3-2-vV2+4-5-V2—-6-3-V2 =6V2 +
20V2 — 18V2 = 8V2

VA5 +/180 — V20 =V32-5++22-32.5-+5.22=3-v/5+2-3-v/5—2-5 = 3v5 + 65 —
2V5 =7V5



